
3-8



1040*585*380mm

DC 12V4.5AH 、12V7AH

F10A, Self-resetting

3-8 years

0.5A、1A



Chimney 

Rear 
Fender  

Front 
Fender 

Front
 Axle 
Seat 

Front 
Axle 

Seat

Armrest

Gear Box

fence 1

fence 2

fence 3

Bucket2

1

Steering 
Wheel

Vehicle 
body 1

2

2

12



Ø

Ø

Fixing 
Seat of 
Bucket 
Tires

ST4.0*12

Rear 
Axle 

Bucket 
Axle 
Sleeve

4Front 
Hubcap

23 24Front 
Wheel

Bucket 
Latch

Rear 
Hubcap

Rear 
Wheel

Control 
Lever 

M10 Nut

25 26

27 28

Bucket 
shaft

1

1

2

4

8

1

16

1

8

Charger 29

2

2

1

2

1



Ø
10

 w
as

he
r

St
ee

rin
g 

W
he

el

Ve
hi

cl
e 

bo
dy

Se
at

Ar
m

re
st

C
hi

m
ne

y 
G

ea
r B

ox

R
ea

r F
en

de
r

fe
nc

e 
1

Fr
on

t F
en

de
r 

fe
nc

e 
2

Fr
on

t A
xl

e 
Se

at
fe

nc
e 

3

Fr
on

t A
xl

e
Bu

ck
et

Fi
xi

ng
 S

ea
t o

f 
Bu

ck
et

 T
ire

s
Bu

ck
et

 L
at

ch
st

ee
l f

ra
m

e 
in

 
fro

nt
 p

ar
t

Bu
ck

et
 A

xl
e 

Sl
ee

ve
R

ea
r A

xl
e 

Fr
on

t H
ub

ca
p

Bu
ck

et
 s

ha
ft

ad
ap

te
r

20

21
22

23
24

Fr
on

t W
he

el

R
ea

r H
ub

ca
p 

25
26

27 29

28

C
on

tro
l L

ev
er

M
10

 N
ut

 
R

ea
r W

he
el

 

C
ha

rg
er

  



Assembly tool needed: screwdriver(not included) and wrenches(included)

Don't use it in dangerous places such as streets, roads and landslides, and it 
must be used under the supervision of adults
Fasten your seat belt and make sure your baby is always seated，meanwhile，
don't let the baby stand or do some dangerous actions while running



1、Install front axle and fender

2、Install control lever, real axle and gear box

First, put the front axle seat, front axle and fender on the specific position, then put on the gasket 
and use pin to fix it.

First, insert steering motor into the control lever. Then fix the rear axle on the vehicle body 
through the damping sleeve in turn. And fix the rear axle with pressing plate. Finally, fix the left 
and right drive motors on the rear axle and connect the plug-in with the car body plug-in.

a

b.

c.



3、Install the front and back wheel

4、Install the steering wheel

First, put the gasket and front wheel onto the front axle in turn, then put another gasket into 
it, lock it with M10 nut, and cover the front hubcap. Then put the rear wheel on the rear 
axle, and put in the gasket, lock it with M10 nut and cover the rear hubcap.

Connect the connector on the steering wheel with the body connector, and then sleeve the 
steering wheel into the fixed column of dash board. Align the screw with the hole to fix it.



5、Install the chimney

6、Install the seat

 Install the armrest: First, distinguish the left and right armrest. Then install it on the seat.
Install the seat: Connect the positive pole of the power before installing the seat. Then place the 
seat in the designated position and align the hook with the body slot. Then screw the fixing holes 
on both sides of the seat clockwise. Insert the charger into the charging hole when charging. The 
whole vehicle doesn’t have any function during charging.

Align the chimney with the vehicle body slot and press it hard. It is installed in 
place when hearing the click sound.



7、Install the bucket

8、Install the fence

Place the fixing seat of the bucket tires on the baseboard of the bucket. Use ST4.0*12 
self-tapping screws to lock it. Then fix the bucket shaft, bushing and front wheel on the bucket 
respectively, then insert the gasket, lock it with M10 nut and cover the front hubcap.

Combine the fence 1, 2 and 3 respectively, and then fix the combined fence on the bucket.

a. b.



9、Combination of the fence and the bucket

10、insert 2 AAA1.5 batteries into remote control

unscrewing the cover of battey container,putting in 2 AAA1.5V batteries correctly,then covering 
up.
please code matching from remote control to the car by following its process in the instruction.

Insert the bucket into the back of the vehicle body. Then fix them together with the 
bucket latch.

battery container cover

AAA1.5V





 WARNING: To reduce the risk of injury,adult supervision
 is required. Never use in  roadways, near motor vehicles, on or 
near steep inclines or steps,swimming pools or other bodies of 
water, always wear shoer, and never allow more than one rider.



(1) starting with engine sound when head and rear lights are lightening.
(2) shiefting forward back switch into forward position,pedalling on the accelerator,vehicle 
     moves forward.
     shiefting forward back switch into back position,pedalling on the accelerator,vehicle moves  
     back.
(3) there are horn and music buttoms on steering wheel.
     the battery indicator shows voltage after starting.
     please checking MP3 and USB accesses by according to instruction.
(4) turn off and disconnecting batteries when it is not used, but doing re-charging every 
     month.














